TB(2B) Ch.10-Pyth. Thm & Irrational No  GHS Past Paper Question Bank— MC Questions Page 1 of 4
TB(2B) Ch. 10 Pyth. Thm & Irrational Numbers

Rational and Irrational Numbers
Multiple Choice Questions

1. [11-12 F.2 S. Test 2]
Which of the following must be rational?

A. 9876
B. /288
C. 121121212...
D. *_
3.14

2. [11-12 S. Test 2]
Itis giventhat a= J5andb=+/7.
Express+/180 + /140 in terms of a and b.

A. 6a+2b
B. 6a+2ab
C. 36a+4b
D. 36a+4ab

3. [12-13 S. Test 2]
Which of the following is a rational number?

A. % B. /1000
2 5 2401
V32 ' 49

4. [12-13 S. Test 2]

Itis given thata = J10 andb= 2. Express \/%+ 4/800 interms of a and b.

A 2.4 20b B. 2. 20p
b a

c. 2.:40a D. 2400
b a

5. [12-13 Final Exam #6]
Which of the following statements is correct?

Rational numbers are integers only.
Recurring decimals are rational numbers.
Irrational numbers must be positive numbers.
All fractions are irrational numbers.
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6. [12-13 Final Exam #19]

If\/%: a, then +v4.5=

A. 0.03a. B. 0.3a.
C. 0.09%. D. 0.9a.

7. [13-14 Standardized Test 2]
Which of the following is an irrational number?

22
S 7
. 3.1415

A
B
C. \/Z+\/E
D

0.12+0.0345

8. [13-14 Standardized Test 2]
1,132 1 1.5

If —+== S +==—, then ab=
a b a b 8
A. E. B. 1.
4
c 4 15V2.
32

9. [13-14 Final Exam, #2]
Simplify 75 ++/27 —/60 ++/5 .
A 3 B. 443
C. 6v3 D. 1043

10. [13-14 Final Exam, #14]

If a=k++/2 and b=k—+/2 wherekis an integer, which of the following is/are rational?

. ab

I. a+b

ll. a* +b?

A. lonly B. Ilonly
C. landllonly D. I, Iland I

11. [13-14 S.6 Mock Exam #8]
Simplify (a2 —3a +1Xa2 ++/3a +1).
A a‘-a*+1
B. a*+a’+1
C. a'-2a’-2y3a-1
D

a‘ ++/3a2 —24/3a++/3a+1
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12. [14-15 Standardized Test #2]
For a>b>c >0, which of the following must be true?

A. J-a=-/a
B. \/%:\/5—\/5

C. Jarb=+a+vb
D. +abc=+a-+b-c

13. [14-15 Standardized Test #10]

If £ -b=+2and i2+b2=£ then 2=
a a a
A % B \/52—1-2'

C. 5-2. D. 5+2.

14. [14-15 Final Exam #6]
Which of the following is an irrational number?

A. 0 B. 37
0
C. gj D.~/242

15. [15-16 Final Exam #1]
Which of the following is an irrational number?

A. 25—
B. 0.012345678901253
C. 1+ 7°
D. 27-3J3
16. [15-16 Standardized Test #6]
243
2-/3
A, 6+44/3.
B. 9+443.
C. -5+4/3.
D _ 6 +g\/§ .
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17. [15-16 Standardized Test #10]

1 1 1
2 V23 e T
A 1-47.
B. 7-1.
c. L.
28
5 1
- VB4+B+7+9+11+413

~End ~
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